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Table 20. Number of Typical Ordinary Households (Four Types) by Age and Labour Force Status of Wife, and Labour Force Status of Husband
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Table 20. Number of Typical Ordinary Households (Four Types) by Age and Labour Force Status of Wife, and Labour Force Status of Husband
—Household of couple only—Continued
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Table 20. Number of Typical Ordinary Households (Four Types) by Age and
—Household of couple with their parent(s)—Continued
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SR — R R MR B xm e o o Bt (85%)

Labour Force Status of Wife, and Labour Force Status of Husband

[In ten thousand persons]
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Table 20. Number of Typical Ordinary Households (Four Types) by Age and Labour Force Status of Wife, and Labour Force Status of Husband
—Household of couple with their parent(s)—Continued
(8 A [In ten thousand persons]
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Table 20. Number of Typical Ordinary Households (Four Types) by Age and

—Household of couple with their child(ren)—Continued
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Labour Force Status of Wife, and Labour Force Status of Husband
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it& %k E 332 334 329 ; 326 sg 1 257 3 4 248
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a) Agriculture and forestry

b) Non-agricultural industries

c) Self-employed workers, pieceworkers at home
d) Less than 15 hours

e) 15~34 hours

f) 35 hours or more

8) No prospect of finding job

h) Vaiting to report to a nev job

Labour’ force status of husband

¥ % @ H A D

Not in labour force

Te& K EE  Totally unemployed # ¥ |HRRgE #EAE % § %‘%E
®Ou i3 B Quitted job 0 {h 3
¥|¥8 =R E#fﬂbg
s ¥ g

# ] [:] ;] LA Do not

Involuntary| Voluntary Desire to desire

Total Total reasons | reasons Other Total work ) h) to work
28 23 13 4 5 69 22 7 0 43
15 13 7 3 2 18 7 2 0 9
15 13 17 2 2 17 7 2 0 9
0 0 = 0 0 1 0 - = 1
14 13 7 2 2 17 7 2 0 9
1 1 0 0 1 0 0 - 1
1 1 0 0 0 1 0 - - 1
3 * - * = 0 0 0 = 0
13 1 [ 2 1 1 6 1 0 7
0 0 0 0 - 1 0 0 - 0
3 2 2 0 0 2 1 0 - 2
9 8 4 1 1 1 5 1 0 5
1 0 0 0 0 0 0 0 - =
13 10 6 2 3 51 15 5 0 34
8 7 4 1 2 13 9 2 - 4
4 3 1 1 1 4 2 1 = 2
0 0 - 0 - 0 - - 0 0
4 3 2 0 1 37 [} 3 0 30
0 - : - 0 0 - - - -
0 - - # 0 0 - - - «
0 - - - 0 0 - - - -
0 - - - 0 - - - - -
3 2 1 1 1 2 1 0 s 1
1 1 0 0 0 1 0 0 - 1
1 i 0 0 0 1 0 0 - 1
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1 1 0 0 0 1 0 0 - 0
0 0 0 = 0 = = = = =
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0 0 0 0 - 1 0 0 - 0
0 0 0 - - 0 - - = 0
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7 6 3 2 1 4 2 0 - 1
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= : . - b4 0 0 w = ”
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0 0 0 [ - o N - - -
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0 0 0 0 0 0 0 - ® -
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Labour Force Status of Wife, and Labour Force Status of Husband

[In ten thousand persons]

Labour force status of husband

Table 20. Number of Typical Ordinary Households (Four Types) by Age and
—Household of couple with their child(ren)—Continued
[®Ar A
Xk o @ % R
[s] Labour f
- % & " @ % % aﬁ ﬁi A z ur or:e -
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% £ ES * | 1 1 0 [ 0 - - 0 - - 0
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—)sﬁﬁgft!ﬁ%%%bmm !5 g g . ‘I’ z g - z = 0 7
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a) Agriculture and forestry

b) Non-agricultural industries

c) Self-employed vorkers, pieceworkers at home
d) Less than 15 hours

e) 15~34 hours

f) 35 hours or more

g) No prospect of finding job

h) Vaiting to report to a new Jjob

3 % @ H A O Not in labour force
TR K¥E  Totally unemployed 3 ¥ (uxRes HEAE % é %
72 u & B Quitted job 20 i %'51_", &
# 4 zg B R|HRH FHEnBY

iR [::] L TN Do not

Involuntary| Voluntary Desire to desire

Total Total reasons reasons Other Total work g) h) o work
13 1 6 1 2 16 9 1 0 5
8 7 4 1 1 [ 3 1 - 3
8 7 4 1 1 6 3 1 = 3
0 0 - 0 - 0 - - - 0
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0 [ 0 0 - 0 0 0 - 0
[ [ 0 - - 0 - & - 0
o 2 - = o 0 0 0 - -
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0 0 - 0 - 0 0 - - -
4 4 3 0 1 10 6 1 0 3
3 2 2 0 1 3 5 0 s 1
1 1 1 0 0 1 0 0 - 1
0 0 - 0 N 0 - - - 0
1 1 1 = 0 3 1 0 0 2
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- - - - < 0 0 0 & 0
0 0 0 = = 1 0 0 = 1
i 1 0 0 0 4 1 0 0 2
0 0 0 = 0 0 0 0 - -
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0 0 - 0 4 18 1 1 - 17

WMt 158 RERR

155



2162 £ (1987 &) 2 B
156 . 157
o0k EOEE, WRRE, ROHMBREH SR — A B8, THEEASMBEH (%)
Table 20. Number of Typical Ordinary Households (Four Typgs) by Age and Labour Force Status of Wife, and Labour Force Status of Husband
—Household of couple with their child(ren) and parent(s)—Continued
(86 A [In ten thousand persons]
*x o #® ¥ R ® Labour force status of husband
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Family| Emplo- Involuntary| Voluntary Desire to desire
Total Total Total a) b) c) |workers| yees d) e) f) Total Total reasons reasons Other Total work 3] h) to work
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a) Agriculture and forestry
b) Non-agricultural industries
¢) Self-employed workers, piecevorkers at home
d) Less than 15 hours
e) 15~34 hours
f) 35 hours or more
g) No prospect of finding Job .
h) Vaiting to report to a new job
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Table 20. Number of Typical Ordinary Households (Four Types) by Age and
—Household of couple with their child(ren) and parent(s)—Continued
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a) Agriculture and forestry
b) Non-agricultural industries
c) Self-employed workers, pieceworkers at home
d) Less than 15 hours
e) 15~34 hours
) 35 hours or more
g) No prospect of finding job
h) Vaiting to report to a new job -
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Labour Force Status of Wife, and Labour Force Status of Husband

[In ten thousand persons]

Labour force status of husband

% % @ H A O Not in labour force
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# “\EE 2 1% = g Za Do not
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